FE)-T

AJOvy (#E&H) BJOvY (#&+)
RET | B | #2H B | HWEN| m#ES
RET A-1 A-2 =i B-1 B-2
FHE A-1 A-3 FHWEN| B-1 B-3
}EE | A2 A-3 mEs | B2 B-3
coyy (HEH)
HWEO| EBE Eop )/
HIEO c-1 c-2
1BE C-1 c-3
B# Cc-2 C-4
</ c-3 C-4
ATy ($#88R)
RET | ¥B | 126 | BS "R KR /% =42
RETF 0-10 1-2 0 1 12 -11 3
FHE 10-0 6-0 6 16 0 16 1
WEE | 2-1 0-6 3 2 7 -5 2
BIOvy (#R)
BE | HWEN| wEE (| Ba B KR EFN =42
=hf 2-2 1-1 4 3 3 0 2
HWEN| 2-2 2-0 4 4 2 2 1
s [ 11 0-2 1 1 3 9 3
cIayy (#ER)
HWEO| EE a8 | <Y/ | B=R B KR (EPS (=44
HIRE0 2-1 4-0 6 6 1 5 2
BE 1-2 2-4 0 3 6 -3 3
Eog i 0-4 1-5 0 1 9 -8 4
<)/ 4-2 5-1 6 9 3 6 1
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